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Question Paper Specific Instructions

Please read each of the following instructions carefully before attempting questions :

There are EIGHT questions divided in TWO SECTIONS and printed both in HINDI and in
ENGLISH.

Candidate has to attempt FIVE questions in all.

Questions no. 1 and 5§ are compulsory and out of the remaining, any THREE are to be attempted
choosing at least ONE question from each section.

The number of marks carried by a question [ part is indicated against it.
Answers must be written in the medium authorized in the Admission Certificate which must be

stated clearly on the cover of this Question-cum-Answer (QCA) Booklet in the space provided. No
marks will be given for answers written in a medium other than the authorized one.

Assume suitable data, if considered necessary, and indicate the same clearly.
Unless and otherwise indicated, symbols and notations carry their usual standard meanings.

Attempts of questions shall be counted in sequential order. Unless struck off, attempt of a question
shall be counted even if attempted partly. Any page or portion of the page left blank in the
Question-cum-Answer (QCA) Booklet must be clearly struck off.
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Let G be a finite group of order mn, where m and n are prime numbers

with m > n. Show that G has at most one subgroup of order m. 10

Il w = f(z), z 1 Tk fovailier ®oH B, a9 gz

2 2
[6—+§y2} log |f'(2)| =0 |

If w=1f(z) is an analytic function of z, then show that

2 2
[%’4’%] log If/(Z)| = @ 10

:;gx dx ¥ SRR %1 e S |
X

O ey DO

log x

dx
J(@2-x)

Test the convergence of I 10

I x A y & Bed ¢ Ay AT THHO B T HA 7,
AT 6 Rz) = p + g, i = J— 1 T forweifin wem 8, & p= 22— N qon

oy  ox
9. 0¥

B x | oy

If ¢ and y are functions of x and y satisfying Laplace equation, then
show that flz)=p+iq, i=,-1 1is an analytic function, where

o B andq—a¢+@ 10

dy ox ox oy
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o) Trfafiad Wasw Tome aoen # ga FH & fore fgmo fafy &1 s Hifsm
H&W‘ﬂwﬁﬁm z=x1+2x2
ENGRED xl—x223

le + X9 < 10

X1, X920

Use two phase method to solve the following linear programming
problem : 10
Maximize z=X;+ 2X,

subject to X;—X923

X1, X920

Q2. (a) f ¥ atfimRor % s (Set) Ragid 1 ST HA §U, THA < f, > h

Hfire 1 i FIRMG, T £y = 1 Lk ok
: : n:

Using Cauchy’s general principle of convergence, examine the

convergence of the sequence < f,, >, where f, =1 + & + £ + ot — 15

Y EIRE | SEE {5

(b) TR T TH A GHE 1 GAh GETRR Sfifer sTeelt 8, AAfhd g@eR
faatia ey €9 & O T8 7 |

Show that every homomorphic image of an abelian group is abelian, but

the converse is not necessarily true. ' 15

() agwmd;”%'q?ﬁ%ﬂﬁC:z=ei9,OSBS2n,a€&rQ{Ff?leHShW
frafis & o C ) TRy w R a @ —DoosB+i@” +Dsino

a4 - 2a2 cos20+1

3, TR aZ>172 |
Find the function which is analytic inside and on the circle
@2 -1 cos®+i(@a2+1)sin6
a* —2a%cos20+1
on the circumference of C, where a2 > 1. 20

C:z=¢€ 0<0<2n and has the value
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B f(z) = - : % IFAH qYT IAh! U1 (3HTEX) T IaT ST |
z(sin nz) (z + 5)
3 AR W fz) & @99 +ff 71 iRy |
Locate the poles and their order for the function f(z) = L .
z(sin nz) (z + lj
v 2
Also, find the residue of f(z) at these poles. 15
I 3 Uy, 0<x<1 % fer Hifvw, fed we 0 v w1 e

n=¥

S.(x) = 51—210g(1+n4x2),xe[0, 1] % g fean w2 Imﬁaﬂéavﬁ
n
H TGGRIG Sahie A I GwAT 8, TR S U! (®, [0, 1] | THEAH
n=1
AR 78 gt 2 |

Consider the series ) Up(x), 0 < x < 1, the sum of whose first n terms
n=1

is given by S,(x) = z—lilog (1 + n*x2), x €0, 1]. Show that the given
' n

series can be differentiated term-by-term, though Z UI') (x), does not
n=1

converge uniformly on [0, 1]. 20

ga flgia =1 3w #d gu, Fefafed Wew o e # ga Hifv
AAHIRTT HIT 2 = dxq + 3%,y + x5
ENGRED X1 + 2% + 4x5 2 12
3xq +2x5 + X328
X1, X9, X320

Using duality principle, solve the following linear programming
problem : : 15
Minimize  z=4x; + 3xX9 + X3
subject to  x; + 2x, + 4x5 > 12
3%y +2x5 +x328
X1, X9, X320

PHKM-B-MTH 4


https://applink.adda247.com/d/XhqWf9lSap

Adda

Q4.

(a)

(b)

(c)

247

GET IT ON
Google Play
quiteh! % q@d Z W U 999 Z[x] H fem i | 7@ i x g sifa

7[x] Y T USTEen S B | 2uis 6 S, Z[x] Y TH TS OrSTEed! @ Wik
3ferss TurTTaet TE R |

Consider the polynomial ring Z[x] over the ring Z of integers. Let S be an
ideal of Z[x] generated by x. Show that S is prime but not a maximal
ideal of Z[x]. 15

[0, 1] ® sferfya fF=fefad wom £ & fow suft qen f= dWm wwree S
HifS -
(1-x2)12 gfe x qfmzT 2 |
fx) =
(1-x), e x 3RET 2 |

31d: guTEe & [0, 1] W f GHM GHheH T8l & |

Find the upper and lower Riemann integrals for the function f defined
on [0, 1] as follows :
(1 -x2)V/2 if x is rational.
flx) =

(1 - x), if x is irrational.

Hence, show that fis not Riemann integrable on [0, 1]. 15

T HUAL HT HIH TauEH, ARG A, B 3 C I &t srfeat oo,
s, Frchrar i A3 # Py 6 w2 | 9R &l st § @ @
rfrepTiEt & TerATaRer Y AT (FIR w9 H) A e R

EARINE
Ffteprt | feeett LEH] EAREIG EEH]
A 16 22 24 20
B 10 32 26 16
C 10 20 46 30

I8 fraaa (sramsmee) Fra hIfT, S SAFTAr Y FF ARG i <AaH HT o
3R =gan wrra oft faifa Hifm |
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The personnel manager of a company wants to assign officers A, B and C
to the regional offices at Delhi, Mumbai, Kolkata and Chennai. The cost
of relocation (in thousand Rupees) of the three officers at the four

regional offices are given below :

Office
Officer Delhi Mumbai | Kolkata | Chennai
A 16 22 24 20
B 10 32 26 16
C 10 20 46 30

Find the assignment which minimizes the total cost of relocation and

also determine the minimum cost. 20
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Q5. (a) iz f AR f 3R g 37 Teaftd @Wag =0 & @8 Bod 8, a9
u = flx — kt + iay) + g(x — kt —iay),
o%u azu_ 1 6%u
1 Th & @ |

_ 2
GrgT (x2=1_l(__%,
CZ

Show that if f and g are arbitrary functions of their respective
arguments, then u = fix — kt + iay) + g(x — kt — iay), is a solution of
82—121+Q%%=i282—;1,where0c2=1——2. 10
0x oy Cr at C
(b) TRE-SieA fafy grn Frfafaa Was e fem &t ga fifvw .
2x+3y-z=5
4x +4y—-3z=3
2x -3y +2z=2
Solve the following system of linear equations by Gauss-Jordan method : 10
2x+3y—-z=5
4x +4y—-3z=3
2x -3y +2z=2

(© (@)  (8D)yq 3R (FF);¢  Tlew G &9 H ¥HT HHGed F1q HINT |
(i)  (9B2.1A); 1 CIHTE FHIT 1A HIT |

1) Determine the decimal equivalent in sign magnitude form of
(ii)  Determine the decimal equivalent of (9B2.1A),,. 10

(d) GEHHE m qYT TS 2a H UH GGU UHEAH I8 U fueh &fas aa W
8 3R M 59 %1 T SAfth 38 W T SR & gL DR d% Jadl & | 39 e
9IS gr 77 i T8 gt {1 AR |
A rough uniform board of mass m and length 2a rests on a smooth

horizontal plane and a man of mass M walks on it from one end to the

other. Find the distance covered by the board during this time. 10
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0= %(x2+y2—2z2)

& grr fear man @ | aw @ s A |

The velocity potential ¢ of a flow is given by
b= %(x2 +y2 — 222).

Determine the streamlines. 10
gutse fop fgfom ameemma wientor

%0(x,y) 5 *0(x,y) 'y

6X2 ay2

@1 g, aiEm gfaey

0(x, 0) = f(x), X € (= oo, 00) & e TAT o(x,y) > 0
T | x| — 00 My — oo,

oo

£(¢) d&
(x, >=1j e
o,y r ) =y &

& ®9 # foran 51 g 2 |

Show that the solution of the two-dimensional Laplace’s equation

%9(x,y) i o%9(x,y)
ax2 ayZ
subject to the boundary condition
0(x, 0) = fx), X € (- o0, ),
along with ¢(x, y) — 0 for |x| — o and y — < can be written in the form

0, x€(—o0,00)y20

=0, X€ (—o0,0),y20

o0

oy f(&) d& 20
s "j ¥ L6c— &

e =9h Y = ABC + BC + AB & fofu qshama ufwy (wfiforera afdhe)
difau | A e gae srgshal

A=10001111, B=00111100, C=11000100

% foru fonfa Y (vemm awoft) oft sm hifse |

Draw the logical circuit for the Boolean expression

Y = ABC + BC + AB. Also, obtain the output Y (truth table) for the
three input bit sequences :

A=10001111, B=00111100, C=11000100 15
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atia?ﬁa%wi +i—z = 1, % U =quty, fe gomE M, &1 386 ad
a

¥ HEaq qAT I Heg W [HE ATl [T F AU, FSed AU HQ hiog |
fean mran R 6 fopeft oft forg W T xy o wWIIUT @ |

Find the moment of inertia of a quadrant of an elliptic disk

2 2
=) B 1, of mass M about the line passing through its centre and

a® . b*
perpendicular to its plane. Given that the density at any point is
proportional to xy. 15

Frafafaa as-wea axfismm
y—-% i +(0—x) ok =X=Yy, -
ox oy
1 98 GHI U3 TTd hIforg, SN fh a9 = 0, xy = 1M F x +y + ¢ =0,
x2 +y2 + ¢2 = a2 ¥ B TORAT & |
Find the integral surface of the following quasi-linear equation

0 o0
(y ¢)ax+(¢ x)ay X-y,

which passes through the curve ¢ = 0, xy = 1 and through the circle

x+y+0=0, x2+y2+0¢%2=a’ 15

6) %ﬁglﬁh:léamwﬁqw%% frm, ot
(i) <SR h=1% Y qaast (Sfusgea) fem

T ITAT Fh fix) = 5x3 —3x2 + 2x + 1 Bl x = — 2 T x = 4 T GRS

HhifS |

Integrate f(x)=5x3—3x2+2x+ 1 from x=-2 to x=4 using

1) Simpson’s % rule with width h = 1, and

(i) Trapezoidal rule with width h = 1. : 15
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(c)

(a)

(b)

T fifse fok o &9
B(X2—y2) 2Bxy
x,y)= —5——3—, (x,y)= 3 x,y)=0,
e b 2 + y2)2 VX, ¥y &2 + y2)2 W, ¥

W&l B U IR @, AN rEdied varg & fore fa wefell @ dqse s
2 | 39 37 &F | TeEnl (TEifiees) oW w1 fufor Hifv |

Let the velocity field
B sy ] 9Bxy
Hx.y) = . v(x,y) = : w(x,y)=0

satisfy the equations of motion for inviscid incompressible flow, where B

is a constant. Determine the pressure associated with this velocity field. 20
I STashel TefieRtor

Sl i
=1 fafea w9 & wuiaia w0 ga i |

Solve the partial differential equation

i () 28 (5 4]0

by transforming it to the canonical form. 15
AT % AT = % TR FF H1 3TN Hth F=fafiaa sifwet @ f2-5) &
A 1 3ATHA HIT

- 1 2 3 4 5 6

flx) : 0 1 8 27 64 125
Using Newton’s forward difference formula for 1nterpolat10n estimate
the value of f(2-5) from the following data : 15

% 1 2 3 4 5 6

fix) : 0 1 8 27 64 125
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(¢) - WH AifST foh wh 3Fd g § & gaFIGR, GHE a1 foudid eendld uive 2a
1 gt W & | quisy foh wfia & ama am W@ afie

2 2
hggfﬂzzﬁg+z=c
x“ +(y+a) a

g0 & S €, Wl C Uk I B, qoi-fog Je@ w1 wex foig 7, oK wivad =i
e areft 1T y 1 3T B |

Suppose an infinite liquid contains two parallel, equal and opposite
rectilinear vortices at a distance 2a. Show that the streamlines relative

to the vortex are given by the equation
2 2
g ZEO =8, T g,
x“ +(y+a) a

where C is a constant, the origin is the middle point of the join, and the
line joining the vortices is the axis of y. 20
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